Texas Weather Worksheet

Variables:  Temperature (Y), Latitude, Elevation, Longitude   (n=16 counties observed)
1) Compute 
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 ________________________
2) Compute all pairwise correlations:
                    Temp/Lat _____  Temp/Elev ______ Temp/Long______  Lat/Elev_____ Lat/Long______  Elev/Long_____

3) Fit Full Model and obtain S2 = MSE = SSE/(16-4)  _________________________________________________

4) Fit all possible regressions and complete following table:

[image: image2.emf]Predictor(s) t(Lat)  (sig) t(long)  (sig) t(elev)  (sig) SSE C(p) AIC Adj-R^2

Lat #N/A #N/A

Long #N/A #N/A

Elev #N/A #N/A

Lat/Long #N/A

Lat/Elev #N/A

Long/Elev #N/A

Lat/Long/Elev


5) Regressions: LAvsLO&EL R2 = _______  LOvsLA&EL R2=_______  ELvsLA&LO R2 = ________

6) VIF’s: 
a) LAvsLO&EL VIF= _______________________  
b) LOvsLA&EL VIF=_______________________  
c) ELvsLA&LO VIF = ______________________

7) Best Model Based on (with SLE=SLS=0.10)

a) Backward Elimination

b) Forward Selection

c) Stepwise Regression

d) C(p)

e) AIC

f) Adjusted-R2
8) SE(ELEV): Model: w/ EL ________   w/ LA&EL ________  w/ LO&EL _________  w/ LA&LO&EL _________
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		Predictor(s)		t(Lat)  (sig)		t(long)  (sig)		t(elev)  (sig)		SSE		C(p)		AIC		Adj-R^2

		Lat				ERROR:#N/A		ERROR:#N/A

		Long		ERROR:#N/A				ERROR:#N/A

		Elev		ERROR:#N/A		ERROR:#N/A

		Lat/Long						ERROR:#N/A

		Lat/Elev				ERROR:#N/A

		Long/Elev		ERROR:#N/A

		Lat/Long/Elev
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